
KAWASAKI Z125 PRO (’17- )

REAR SETS  (part# K-Z125RS)

satoracing.com

 1. (L) STEP PLATE  [K-Z125SP-R] 
 2. (R) STEP PLATE  [K-Z125SP-R]
 3. SHIFT PEDAL [SPD-0912]
 4. BRAKE PEDAL  [BPD-DMBP135b]
 5. SHIFT ROD 90 (BK)  [SRD-90B] 
 6. BRAKE ROD END ADAPTER M6-8
      [BRD-ADPTRM6-8]
 7. FOOT PEG  [PEG]  x 2
 8. FOOT PEG END CAP  [ST-002]  x 2
 9. PEDAL TIP (DELRIN)  [ST-001D18]  x 2
10. BEARING COLLAR 10(BK)  [PEGBGCLR-10SB]
11. ROD END COLLAR 29(BK)  [RDED-CLR29]  
12. SOCKET HEAD M6x25mm  [SBT-M625]
13. SOCKET HEAD M6x55mm  [SBT-M655]
14. BUTTON HEAD M6x20mm  [BBT-M620]  x 2 
15. BUTTON HEAD M8x25mm  [BBT-M825]
16. BUTTON HEAD M8x35mm  [BBT-M835]
17. FLAT HEAD M8x20mm  [FBT-M820]  x 4
18. FLAT HEAD M8x30mm  [FBT-M830]  x 2
19. HEX HEAD M6x18mm  [HBT-M618]
20. MALE ROD END M6  [RDED-M6]  x 2
21. REVERSE MALE ROD END M6 [RDED-M6L]
22. JAM NUT M6  [JNT-6]  x 2
23. REVERSE JAM NUT M6  [JNT-6L] 
24. LOCK NUT M6  [LNT-6]  x 2
25. NUT (KAWASAKI PART)
26. RETURN SPRING 40
-    BRAKE LIGHT SWITCH P-1.25  [BSW-125]
       (NOT PICTURED)

[L]

[R]

Flat side of BEARING COLLAR 10 (#10) should 
face STEP PLATE (#1), with the stepped side 
facing out toward shift pedal bearings. 

18

1

17

9

14

7

8

10
16

3192123522

122024

18

2

17

14

78 

25

26

6

22

2411

15

13

To the star cylinder

94

Adjust angle of 
stock shift arm

20


